1. The following results were obtained as part of a simple linear regression analysis.
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We wish to test Ho: β = 0. The computed value of the test statistics is ________

2. The following results were obtained as part of a simple linear regression analysis.
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For each unit change in x, the change in y is equal to_____________.

3. The following results were obtained as part of a simple linear regression analysis.
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, MSE = 25.485

When the independent variable is equal to 5, the estimate of 
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 is ____________
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